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Quiz 10

You scored 0 out of 100

Question 1

You did not answer the question.

State whether the sequence converges as n —> €0 ; if it does, find the limit.
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a) © diverges

b) © converges to 0

© ' converges to 12

d) © converges to 1

€) ' converges to 11

Question 2

You did not answer the question.

State whether the sequence converges as n —> €0 ; if it does, find the limit.
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a) © converges to 1
b) © diverges

©)  converges to 7

d) converges to In l:?j

€) converges to 0

Question 3

You did not answer the question.



State whether the sequence converges as n —# €3 ; if it does, find the limit.
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a) _ converges to 1

b) © diverges

©) ' converges to

7
d) © converges to
€) ' converges to 0

Question 4

You did not answer the question.

State whether the sequence converges as n — €0 ; if it does, find the limit.
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a) converges to /5
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b) converges to =

©) ' converges to 1
d) © converges to 0

e) ' diverges

Question 5

You did not answer the question.

State whether the sequence converges as n —# €3 ; if it does, find the limit.
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a) * diverges

b) © converges to 0
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converges to

d) © converges to

e converges to 1
Question 6

You did not answer the question.

State whether the sequence converges as n — €0 ; if it does, find the limit.

n” sin(n )

a) * converges to -1
b) " converges to 1
©) ' converges to 0
d) converges to 9

€ diverges

Question 7

You did not answer the question.

State whether the sequence converges as n —> €0 ; if it does, find the limit.
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a) diverges
b) © converges to 9

10
© ' convergesto /A



d) © converges to 10

€) ' converges to 1

Question 8

You did not answer the question.

State whether the sequence converges as n — €0 ; if it does, find the limit.
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(127)

a) * converges to 0
b) © diverges

©) ' converges to -1
d) © converges to 1

€ converges to 1200

Question 9

You did not answer the question.

State whether the sequence converges as n — €0 ; if it does, find the limit.

a) * diverges
1
b) © converges to /3
1
©) ' converges to /9
d) © converges to 0

€) converges to 1
Question 10

You did not answer the question.

State whether the sequence converges as n —> €0 ; if it does, find the limit.



a) * converges to 1

b) " converges to ©
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©) © converges to -

d) diverges

€) converges to

Question 11

You did not answer the question.

Calculate the limit.
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b) © 5
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e 1

Question 12

You did not answer the question.

Calculate the limit.
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Question 13

You did not answer the question.

Calculate the limit.

a)

b)
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d

e)

~In(10)

In(10)

Question 14

You did not answer the question.

Calculate the limit.
a) 1
1
b) 73
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Question 15

You did not answer the question.

Calculate the limit.
X
e (34 37r— 3¢
# =0 (41’(&:}“—1]]
_3
a) 4
3
b) B
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e) L

Question 16

You did not answer the question.

Calculate the limit.

(5x— 5tan(x))

-0 (4x—4zin(x))
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a) 2
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©) L
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d) 5
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e) 4



Question 17

You did not answer the question.

Calculate the limit.
fim (cos(x) — t:zns(S x))
et (sin(x*))

a) 24

b) 14

) -11

a1

e) L

Question 18

You did not answer the question.

Calculate the limit.
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a) 1
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b) D
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e) 9

Question 19

You did not answer the question.



Calculate the limit.

a)

b)

©)

e)

A r(lnix+53)—Inix))

Question 20

You did not answer the question.

Find values for a and b such that

a)

b)

©)

d

e)

[a=(20, -20), b=0]

[a=(-10,10),b=1]

[a=(-20,20), b=1]

[a=(-40,40), b=12]

[a=(-20,20), b=-1]



